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FOR GOD AND COUNTRY

Class: 8 Subject : GEOGRAPHY Term : FINAL TERM Max Marks : 80

Q1: The latitudinal extent of Asia is Marks: 1
1. 10°N to 80°S
2. 10°E to 80°W
3. 10°W to 80°E

4. 10°S to 80°N E ( This Answer is Correct )

Q2: Surveyors measure the elevation of the land by using the Marks : 1
1. Coulometer
2 . Clinometer |Zl ( This Answer is Correct )
3. Ceilometer

4 . Chronometer

Q3: The movement of residence from one country to another is termed as Marks : 1
1 . external migration E ( This Answer is Correct )
2 . quasi migration
3. bothinternal & external

4 . internal migration

Q4: Population distribution shown in a map relates to the poulation's Marks: 1
1. cultural distribution
2 . political distribution
3 . spatial distribution |Zl ( This Answer is Correct )

4 . academic distribution

Q5: Urbanization is also called Marks : 1
1 . urban sprawl E ( This Answer is Correct )
2. urban pro
3. urban stretch

4 . urban excel
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Q6: The two mountain ranges separating Asia from Europe are the Marks :
1. Ural & Kunlun
2 . Ural & Caucasus @ ( This Answer is Correct )
3. Ural & Kirthar
4 . Ural & Carpathian

Q7: The most accurate and interesting way to show the relief is by making Marks :
1 . contours |Zl ( This Answer is Correct )
2 . hill-shading
3. hachures
4 . layer tinting

Qs: The number of people per unit area is the definition for Marks :
1. Population explosion
2 . Population distribution
3. Population growth
4 . Population density |Zl ( This Answer is Correct )

Q9: The transport system was revolutionized by the Marks :
1. innovation in irrigation
2. domestication of animals
3. modernization in lifestyle
4 . invention of wheels m ( This Answer is Correct )

Q10: Asia is connected with Africa by the Marks :
1. Malay Peninsula
2 . Noto Peninsula
3 . Sinai Peninsula E ( This Answer is Correct )
4 . Kola Peninsula
Q11: The conventional methods used for drawing contours on topomaps are Marks :

1. aerial photography
2 . underwater photography
3. land photography

4 . surveys and levelling

|Zl ( This Answer is Correct )
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Q12: Which of the following reason for migration is not recorded in the census? Marks :
1. Employment
2. Marriage E ( This Answer is Correct )
3. Education
4 . Civic amenitis
Q13: A very densely populated island of Indonesia is Marks :
1. Bali
2. Sumatra
3. Java E ( This Answer is Correct )
4. Borneo
Q14: The oil rig was leased to the offshore oil drilling company by 'BP' which is an abbreviation for Marks :
1. British Petroleum [v/] ( his Answer s Correct)
2 . Bolivian Petroleum
3. Belgian Petroleum
4 . Bharat Petroleum
Q15: In the southern hemisphere lie few islands of the Marks :
1. Japanese archipelago
2 . Malaysian archipelago
3. Vietnamese archipelago
4 . Indonesian archipelago E ( This Answer is Correct )
Q16: Contour lines attain a V-shape near the Marks :
1. water bodies
2. plateaus
3. valleys E ( This Answer is Correct )
4 . waterfalls
Q17: Which of the following region is densely populated? Marks :

2.

3.

4

The polar regions
The equatorial forests

The hot deserts

. The river basins

|Zl ( This Answer is Correct )
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Q18: The Deepwater Horizon Qil Spill disaster took place on Marks :
1. 10th March 2010
2. 20th April 2010 |Zl ( This Answer is Correct )
3. 20th March 2010
4. 10th April 2010
Q19: One of the main reasons of urbanization is Marks :
1. investigation
2. cultivation
3 . industrialization |Zl ( This Answer is Correct )
4 . meditation
Q20: Tongue-like projections starting from a higher ground and ending on a lower are called Marks :
1. Ridges
2. Spurs E ( This Answer is Correct )
3. Cliffs
4 . Saddles
Q21: A planned urban centre created in a rural area with the help of the government is a/an Marks :
1. New town E ( This Answer is Correct )
2. Overspill town
3. Excel town
4 . Satellite town
Q22: Saudi Arabia has a considerably high population because of its Marks :
1. infertile soil
2 . scarcity of water
3 . rich mineral deposits E ( This Answer is Correct )
4 . unfavourable climate
Q23: Cement capping was done to prevent leakage from the Marks :
1. bolthole
2. porthole
3. manhole
4 . borehole |Zl ( This Answer is Correct )
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Q24: The Turin basin is drained by the rivers Marks :
1. Tigris & Euphrates
2. Mekong & Menam
3 . Amu Darya & Syr Darya |Zl ( This Answer is Correct )
4 . Indus & Ganga
Q25: Which of the following is not a reason for urban to urban migration? Marks :
1. Industrialization
2 . Population growth
3. Transportation
4 . Good restuarants E ( This Answer is Correct )
Q26: The change in the number of people living in a particular region over a period of time is termed Marks :
1 . Population growth E ( This Answer is Correct )
2 . Population distribution
3. Population explosion
4 . Population density
Q27: A device attached to pipe or tube that controls the flow of air or liquid is called a/an Marks :
1. bolt
2. axle
3. valve |Zl ( This Answer is Correct )
4. screw
Q28: Which of the following is not a Central Asian country? Marks :
1. Uzbekistan
2 . Pakistan |Zl ( This Answer is Correct )
3. Tajikistan
4 . Afghanistan
Q29: The Survey of India uses a standard contour interval of Marks :

1. 10 metres
2. 1 metre
3. 20 metres

4 . 5 metres

|Zl ( This Answer is Correct )
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Q30: The conditions of the original place which compel one to move out from that region are Marks :
1 . Push factors E ( This Answer is Correct )
2 . Drag factors
3. Pull factors
4 . Tug factors

Q31: Which of the following is not an important economic hub? Marks :
1. Osaka in Japan
2 . Oxford in UK E ( This Answer is Correct )
3. Mumbaiin India
4 . Detroitin USA

Q32: A fault in the valve of the oil rig lead to the leakage of Marks :
1. butane gas
2. propane gas
3. ethylene gas
4 . methane gas E ( This Answer is Correct )

Q33: Pearl River is the other name of river Marks :
1. Zhujiang E ( This Answer is Correct )
2. Yangtze
3. Yalong
4 . Zishui

Q34: The height of random places between the contours is called Marks :
1. Pop height
2 . Spot height |Zl ( This Answer is Correct )
3. Point height
4 . Site height

Q35: The relocation of a single family member to other family members and friends to the new place is Marks :

1. Band migration
2. Clan migration
3. Gang migration

4 . Chain migration

|Zl ( This Answer is Correct )
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Q36: The island of Paris transformed to one of the best cities in the world by building a Marks :
1. bridge |Zl ( This Answer is Correct )
2. monument
3. cathedral
4 . tunnel
Q37: The steepness of a slope is called Marks :
1. relief
2. equivalent
3. precipice
4 . gradient |Zl ( This Answer is Correct )
Q38: The two countries which experienced population decrease due to emigration are Marks :
1. Australia & Canada
2. Sudan & Canada
3. Sudan & Jamaica |Zl ( This Answer is Correct )
4 . Australia & Jamaica
Q39: Dependant population are also known as the Marks :
1. Matured population
2 . Adolescent population E ( This Answer is Correct )
3. Effective population
4 . Productive population
Q40: The oil rig was built by Hyundai Heavy Industries in Marks :
1. North Korea
2. Taiwan
3 . South Korea E ( This Answer is Correct )
4. Japan
Qa: It is considered that the major catalyst of urban sprawl are Marks :
1. roadways E ( This Answer is Correct )
2. waterways
3. airways
4 . ropeways
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Q42: River Mekong forms a border between Myanmar and Marks :
1. Brunei
2. Taiwan
3. Laos |Zl ( This Answer is Correct )
4. Cyprus
Q43: The contours of mountains are represented in Marks :
1. squares
2 . circles E ( This Answer is Correct )
3. triangles
4. ellipses
Q44: An important source of foreign exchange because of external migration is Marks :
1. cash crop
2. petroleum
3. machinery
4 . remittance E ( This Answer is Correct )
Q45: The oil from the exploded rig did not spread to the coastlines of Marks :
1. Louisiana
2 . California E ( This Answer is Correct )
3. Florida
4 . Alabama
Q46 : Cambridge has developed as an important urban centre because of Marks :
1. religion
2 . adminstration
3. industrialization
4 . education E ( This Answer is Correct )
Q47: In between the Pontic and Taurus lies the plateau of Marks :
1. Mongolia
2. lIran
3 . Anatolia E ( This Answer is Correct )
4. Tibet
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Q48: The settlements found along roads, railway lines, rivers and canals are called Marks :
1. Nucleated settlements
2 . Linear settlements E ( This Answer is Correct )
3. Radial settlements
4 . Scattered settlements
Q49: During the 19th & 20th centuries the southern parts of South America received colonists from Marks :
1 . Spain & Portugal |Zl ( This Answer is Correct )
2. Norway & Sweden
3. Hungary & Romania
4 . Germany & France
Q50: Between 1347 & 1351, entire Europe was ravaged by the epidemic Marks :
1. Yellow Fever
2. Spanish Flu
3. Swine Flu
4 . Black Death E ( This Answer is Correct )
Q51: The bottlenose dolphins exposed to oil were afflicted with Marks :
1. liver disease
2. kidney disease
3. lung disease |Zl ( This Answer is Correct )
4 . heart disease
Q52: Which of the following is not enlisted as an entertainment town? Marks :
1. Mecca E ( This Answer is Correct )
2. Hollywood
3. Ramoaji City
4. Cannes
Q53: The western part of the Northern Lowlands of Asia is called the Marks :

1.

2

3.
4.

West Babylonian plain
. West Siberian plain
West Arabian plain

West Mongolian plain

E ( This Answer is Correct )
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Q54: Settlement patterns to a great extent reflects the Marks :
1. academic activities
2. cultural activities
3 . economic activities |Zl ( This Answer is Correct )
4 . biological activities
Q55: The two countries which have a large number of migrant population are Marks :
1. Sudan & Jamaica
2. Canada & Jamaica
3. Sudan & Australia
4 . Australia & Canada E ( This Answer is Correct )
Q56: The Productive Population refers to the people within the age group of Marks :
1. 151060 years
2. 15to0 65 years E ( This Answer is Correct )
3. 151062 years
4. 15to 58 years
Q57: Smart cities assure lights in the streets & parking areas provided by the eco-friendly Marks :
1. boilers
2. dynamos
3 . solar panels |Zl ( This Answer is Correct )
4 . generators
Q58: The Yunnan-Guizhou plateau in China is drained by the rivers Si Kiang, Marks :
1. Salween & Mekong |Zl ( This Answer is Correct )
2 . Irrawaddy & Mekong
3. Salween & Menam
4 . Irrawady & Menam
Q59: A long and narrow stretch of mountains with a number of summits is called a Marks :
1. col
2. saddle
3. gap

4 . ridge

|Zl ( This Answer is Correct )
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Q60: External migration of well-qualified human resources valuable to the source country is termed Marks :
1. Sense drain
2 . Brain drain |Zl ( This Answer is Correct )
3. Intellect drain
4 . Mind drain
Q61: Which of the following is not considered as a process of identifying population change? Marks :
1. Natality
2 . Migration
3 . Excursion E ( This Answer is Correct )
4 . Mortality
Q62: In August, 2006 a Japanese tanker spilled 1.4 million gallons of crude oil into the Marks :
1 . Indian Ocean |Zl ( This Answer is Correct )
2 . Pacific Ocean
3. Atlantic Ocean
4 . Southern Ocean
Q63: The highest peak of the Andes mountain range is Marks :
1. McKinley
2. Kosciuszko
3. Aconcagua |Zl ( This Answer is Correct )
4 . Kilimanjaro
Q64: A process by which rural people move to towns and cities is called Marks :
1. Migration
2. Locomotion
3 . Urbanization E ( This Answer is Correct )
4 . Rehabilitation
Q65: The Deepwater Horizon Oil Spill is also known as the Marks :

2.
3.

4

Gulf of Tonkin oil spill
Gulf of Suez oil spill

Gulf of Oman oil spill

. Gulf of Mexico oil spill

|Zl ( This Answer is Correct )
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Q66: The Deepwater Horizon oil rig was located near the delta of the river Marks :
1. Colorado
2 . Mississippi |Zl ( This Answer is Correct )
3. Columbia
4 . Missouri
Q67: One of the yardsticks of uncontrolled urban expansion is the rapid development of Marks :
1 . housing |Zl ( This Answer is Correct )
2. poultry
3. orchard
4. granary
Q68: After the explosion the oil flowed from the rig for a period of Marks :
1. 87 hours
2. 87 days |Zl ( This Answer is Correct )
3. 78days
4. 78 hours
Q69: The inflow or outflow of people voluntarily or involuntarily is coined as Marks :
1. Mitigation
2. Fixation
3 . Migration |Zl ( This Answer is Correct )
4 . Locomotion
Q70: One of the main reasons of urbanization is Marks :
1. obliteration of villages
2 . growth of population |Zl ( This Answer is Correct )
3. development of cities
4 . decline of population
Q71: A slum dwelling made of mud & corrugated iron for the rural migrants are called Marks :
1. jhuggis |Zl ( This Answer is Correct )
2 . jhumpadapattis
3. jhupadees
4 . jhopadapattis
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Q72: Japan is an archipelagic country comprised of nearly Marks :
1. 3000 islands
2. 1000 islands
3. 2000 islands
4 . 4000 islands E ( This Answer is Correct )
Q73: The elevation of the coastline is at Marks :
1. 10m
2. Om E ( This Answer is Correct )
3. <Om
4. 1m
Q74: Paris was an island located on the river Marks :
1. Rhine
2. Saone
3. Rhone
4 . Seine E ( This Answer is Correct )
Q75: A good number of people are encouraged to move in the countryside because of Marks :
1. pollution free air
2. scope of fishing
3 . lower cost of living |Zl ( This Answer is Correct )
4 . natural beauty
Q76: Which of the following is not a consequence of food shortage? Marks :
1. starvation
2 . undernourishment
3 . overconsumption E ( This Answer is Correct )
4 . malnutrition
Q77: The Tien Shan and the Altai mountains respectively surround the Mongolian Plateau to the Marks :

1.

east & west

2 . west & north

3.
4.

east & south

north & south

|Zl ( This Answer is Correct )
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Q78: The development in which of the following field does not contribute to the increase in population? Marks: 1
1 . Entertainment E ( This Answer is Correct )
2. Agriculture
3. Medical Science

4 . Technology

Q79: The process of removing the contaminations naturally by bacteria, fungi & green plants is Marks : 1
1 . Bioremediation |Zl ( This Answer is Correct )
2 . Ammonification
3. Detoxification

4 . Eutrophication

Q8o: In order to keep the small towns and big cities clean, significant role is played by (the) Marks : 1

1. municipalities only
2 . municipalities & corporations |Zl ( This Answer is Correct )
3. corporations only

4 . neither of the two bodies
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